1 AN ROINN OIDEACHAIS
(Department of Education),

LEAVING CERTIFICATE EXAMINATION, 1954,

MATHEMATICS—Algebra—Pass.

TUESDAY, 15th JUNE.—Morxtxa 10 10 12.30.

All guestions to be answered.

Mathematical Tables may be obtained from the Superintendent,

L. (@) Find the least common multiple of 2%42:2+7246 and
23—t 412,
() Find the factors of be(b—c)+-calc—a)ab(a—b).
25 marks,]

2. Find an expression for the sum to » terms of the arithmetie
Reries a, a--d, a-+2d, . . .

The sum of n terms of the series 321, 291, 26 . . . is 1784 ; find n.
‘Account for the two solutions,
j [25 marks.]

3. The difference of two numbers is 4 and the difference of their
ienbes is 988, Find the numbers.

[30 marks.]

t 4, (a) Solve the following equations (without using the tables)

2= 4=17 loga=1; log 4= —1%.

(b) Find (without using the tables) the values of & and y which
satisfy

2log oz —1) +-log,gy=2—2log, 5,
loggz+loggy=10g ;3. e
[30 marks.]

5 I E—-I-l-zw\—@’ write VE in the form Vz+vy. Hence show
: =14 -

/(4/6—1
RS U e 1]
vE | 9

[30 marks,]




The breadth, length and diagonal of a rectanzgle are in AP,
'md the breadth, length and diag unal of another rectangle are in G.D.
In each ease, hnrl the le sngth of th(‘ diagonal when the br‘ sadth is one
inch.

[30 marks.]

7. Draw the graph of the function (2z—5)(x*—4z) for values of 2
from 0 to 44.

Find from your graph for what range of values of 2 in the interval,
0 to 41, the function, («) is increasing, (b) is positive, (c) is negative,

Find, also, from th“ graph, ags tuuuatcly as you can, the values of x
which sat Hh the equation (2o—5)(x*—4x)=2.

[30 marks.]




